NIT Sr. No. SPPRA Serial No.33404

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work: EMERGENT DISMANTLING REASSEMBLING OF DWT PUMP

B-12 SET NO.1 & 2 P/L 3 1/2 CORE CABLE AT BABA ISLAND P/S

KEAMARI TOWN

Date of Opening:

02-06-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.		Bidders'	Name
No.	Eligibility / Qualification Criteria	M/s.M.A. Khan Group of Const.	M/s.B.K Builders
1.	Registration with PEC (if applicable)	N/A	N/A
2.	NTN	Yes	Yes
3.	Sales Tax Registration (FBR)	N/A	N/A
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes
	Qualification Criteria:		
5.	Minimum three years' experience of relevant field.	Yes	Yes
6.	Turnover of at least last three years	Yes	Yes
7.	Required Bid Security is attached.	Yes	Yes
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A
10.	Qualified/ disqualified	Qualified	Qualified

(Muhammad Khalid Khan) Accounts Officer (Dist. West) Member / Secretary

> (Owais Malik) S.E (District West-A) Member

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Saleem Ahmed)

Director (Design & Estimate)

Convener

NIT Sr. No. SPPRA Serial No.33404

Method of Procurement: Single Stage Single Envelope.

Name of Work: EMERGENT DISMANTLING REASSEMBLING OF DWT PUMP B-12 SET NO.1 & 2 P/L 3 1/2 CORE CABLE AT BABA ISLAND

P/S KEAMARI TOWN

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 02-06-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- Two bidders submitted their bids till the deadline of submission.
 - M/s. M.A Khan Group of Construction
 - ii. M/s. B.K Builders
- .The bids were opened at 11:30 A.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
01	M/s.M.A Khan Group of Construction	Rs.9,26,871/-	Rs.20,000/-	P.O#17885134 dt:18-05-2017 Rs.12,000/- & P.O#17885271 dt:26-05-2017 Rs.8,000/- from HBL Hassan Square Branch Karachi
02	M/s.B.K Builders	Rs.9,27,331/-	Rs.20,000/-	P.O#17885297 dt:26-05-2017 from HBL Hassan Square Branch Karachi

- 4. The bids do not contain any cutting or over-writing.
- The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Muhammad Khalid Khan) Accounts Officer (Dist. West)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Owale Malik) S.E (District West-A)

Member

Director (Design & Estimate)

Convener



KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.33404 I.D No
3	Tender Description/Name of Work/Item:	EMERGENT DISMANTLING REASSEMBLING OF DWT PUMP B-12 SET NO.1 & 2 P/L 3 1/2 CORE CABLE AT BABA ISLAND P/S KEAMARI TOWN
4.	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	2 Nos
7	Total Bid Received:	2 Nos
8	Technical Bid Opening Date (if applicable):	N/A
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	02-06-2017

12 BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE	REMARKS	
1	M/s.M.A Khan Group of Construction	oup of Rs.9,26,871/- Lowest		@0.0002% Below	Pay Order and required documents are available. P.O#17885134 dt:18- 05-2017 Rs.12,000/- & P.O # 17885271 dt:26-05-2017 Rs.8,000/- Total Rs.20,000/-from HBL Hassan Square Branch Karachi	Substantially Responsive	
2	M/s.B.K Builders	Rs.9,27,329/-	2 nd Lowest	@0.049% Above	Pay Order and required documents are available. P.O#17885297 dt:26- 05-2017 Rs.20,000/- from HBL Hassan Square Branch Karachi	Substantially Responsive	

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.M.A Khan Group of Construction declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Muhammad Khalid Khan) Accounts Officer (Dist. West) Member / Secretary (Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

S.E (District West-A)
Member

(Saleem Ahmed) / 7 Director (Design & Estimate)

Convener

COMPARATIVE STATEMENT

Name of Work: EMERGENT DISMANTLING REASSEMBLING OF DWT PUMP B-12 SET NO.1 & 2 P/L 3 1/2 CORE CABLE AT BABA ISLAND P/S KEAMARI TOWN

Item No	Description of Work	Estimated Cost						I.A Khan of Const.	M/s,B.K Builders	
110			ntity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	Rewinding of electric motor No.2 and 3 (60 HP) at Baba Island Pumpign Station No.3 phase (4 pole 400/440V), 50 cycles with nest quality insulated Copper wire of required gauge including testing on load with satisfactory rsult upto one weeks time, opening and refitting and replacing the bolts if necessary excludign the cost of worn out material, (04 poles 1450 RPM). 1. Electric Motor No.01 (60 HP) at Baba P/S									
	2. Electric Motor No.02 (60 HP) at Baba P/S	2.00	Nos	59361.00	Each	118,722.00	59,361	118,722.00	59,361	118,722.00
2	Providing & Laying (Main or Sub Main) PVC insulated & PVC Sheeted with 3.5 core copper conductor 600/1000 volts size 240mm2. Change over switch to main panel box.	33.00	Mtrs	14243.00	P/Mtr	470,019.00	14,243	470,019.00	14,243	470,019.00
3	P/F Amp Meter SCR 2012	1.00	No	1054.00	Each	1,054.00	1,054	1,054.00	1,054	1,054.00
4	Dismantling & Reassembling of deep well turbine pump (DWT) all types.	2.00	Jobs	4865.00	P/Job	9,730.00	4,865	9,730.00	4,865	9,730.00
5	P/F Impellers (Bronze) for Pump No.1 & 2 B-12 B.	8.00	Nos	8220.00	Each	65,760.00	8,220	65,760.00	8,220	65,760.00
6	P/F Wearing Rings (Bronze) for Pump No.1 & 2 B-12 B.	8.00	Nos	1670.00	Each	13,360.00	1,670	13,360.00	1,670	13,360.00
7	P/F Bowl Sleeves (Cast Iron) for Pump No.1 & 2 B-12 B.	8.00	Nos	1450.00	Each	11,600.00	1,450	11,600.00	1,450	11,600.00
8	P/F Bearing Sleeve for Pump No.1 & 2 B-12 B.	4.00	Nos	1723.00	Each	6,892.00	1,723	6,892.00	1,723	6,892.00
9	P/F Clamping Sleeves (Cast Iron) Rubber Bearing for Pump No.1 & 2 B-12 B.	8.00	Nos	1743.00	Each	13,944.00	1,743	13,944.00	1,743	13,944.00
	P/F Pump Shaft 45mm dia (stainless Steel) for Pump No.1 & 2 B-12 B.	2.00	Nos	6648.00	Each	13,296.00	6,648	13,296.00	6,648	13,296.00
11	P/F Sand Guard (Bronze) for Pump No.1 & 2 B-12 B.	2.00	Nos	1766.00	Each	3,532.00	1,766	3,532.00	1,766	3,532.00





Sund

Cik

Name of Work: EMERGENT DISMANTLING REASSEMBLING OF DWT PUMP B-12 SET NO.1 & 2 P/L 3 1/2 CORE CABLE AT BABA ISLAND P/S KEAMARI TOWN

Item No	Description of Work	Estimated Cost					1.00	M/s.M.A Khan Group of Const. M/s		/s.B.K Builders	
140	**	Qua	ntity	Rate	Per	Amount	Rate	Amount	Rate	Amount	
12	P/F Column Shaft 10' long 45mm dia Stainless Steel for Pump No.1 & 2	2.00	Nos	6064.00	Each	12,128.00	6,064	12,128.00	6,064	12,128.00	
13	P/F Top Shaft 45mm dia 7' long for Pump No.1 & 2 B-12 B.	2.00	Nos	4948.00	Each	9,896.00	4,948	9,896.00	4,948	9,896.00	
14	P/F Ball Bearing No.6322 SKF / FAG	2.00	Nos	33779.00	Each	67,558.00	33,779	67,558.00	33,778	67,556.00	
15	P/F Ball Bearing No.6313 SKF / FAG	2.00	Nos	6364.00	Each	12,728.00	6,364	12,728.00	6,364	12,728.00	
16	Providing American Grease	1.00	Kg	240.00	P/Kg	240.00	240	240.00	240	240.00	
17	P/F Magnetic Contactor FC-80 N as required and as per instruction of E/Incharge.	4.00	Nos	16705.00	Each	66,820.00	16,705	66,820.00	16,800	67,200.00	
18	P/F Over load relays for sie Model FT 65 as required as per instruction of E/Incharge.	2.00	Nos	5536.00	Each	11,072.00	5,536	11,072.00	5,536	11,072.00	
19	P/F Circuit Breaker 100 MP TP setting 500-800 Amps (XS-100 NJ) on prepared board as required.	2.00	Nos	9261.00	Each	18,522.00	9,260	18,520.00	9,300	18,600.00	
	TOTAL QUOTED / CORRECTED COST					926,873		926,871		927,329	

(Muhammad Khalid Khan) Accounts Officer (Dist. West) Member / Secretary

(Saif-ul-Haque) Addl. Director Internal Audit KMC - Member

(Maqsood Ahmed Shaikh) Superintending Engineer (K.M.C) Member

(Owais Malik) S.E (District West) Member

(Saleem Ahmed) Director (Design & Estimate) Convener

ATTENDANCE OF PARTICIPATE CONTRACTOR

Name of Work: -

EMERGENT DISMANTLING REASSEMBLING OF DWT PUMP B-12 SET NO.1 & 2 P/L 3 1/2 CORE CABLE AT BABA ISLAND P/S KEAMARI TOWN

Date of Opening & Time: 02-06-17 at 11.30 AM.

Estimated Cost : 14,926873/2

S.NO	NAME OF FIRM	NAME OF PERSON & DESIGNATION	SIGNATURE
1	M/s. Maron Slote - M/s. B. K. Balder	MA. Che aut of	god 9
2	M/s. B. K. Bolder	Ani Shel	HW.
3-	M/s.		
4			
5			
6			
7			
8	:		
. 9			
10			